Name: Date:

Teacher: Class:

Multiple Operations

Evaluate.

L. (7 +4) x (24 + (3 +5H) =

235+ (1 +6) x 16 =

3. 8 +6)+2 x 16 =

4, (15+6)—3:

5.9 x (10 — 7)

6. 12 + (2 + 4)

7. 56 = (4 + 3) x 19 =

8. 16 + 8 x (48 — 6) + 6) =

9. (5 + 16) x (42 + (2 + 5H)) =

10. (4 — 3) x (1 + 1) =
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Answer Key Date:

Teacher: Class:

Multiple Operations

Evaluate.

L. (7+4) x (24 + (3 +5) =33

2. 35 + (1 + 6) x 16 = 80

3. B8 +6)+2x16 =112

4. (15 +6) =+ 3 =7

5. 9 x (10 — 7) = 27

6. 12 + (2 + 4)

[
N

7. 56 + (4 + 3) x 19 = 152

8. 16 + 8 x ((48 — 6) = 6) = 72

99 (5 +16) x (42 + (2 + 5)) = 126

10. 4 -3) x (1 +1) =1
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